3

Y

o
~T ﬂ

\‘ Kﬂ’\ﬂ_.

ik ek~ 6

The »% %3‘%2‘3"%‘5:’ 3 o
WEDOCry’)” T O gyt
O+ (~-9) @ (e e

2y - xgt s 2 (y) —yi(a-y )

- (g0 y)

CZ’U)(X'“Z))(X’%’)

(- * (x+y) (D

)Q/ Ve x4+ 3 L v )
(« vl 4 bl l—%%—ttd-)u.a,)@(oug—ﬂ 1+32+l-:v5~>t~
%"f ‘?) (2 l"ﬂéx’fﬂ*:’“ﬁ) C)5 ('X'l'kj.'\) (x=y'=1D

h

Do

Ao | +\ag—f % = (GO (=) 5-;- (‘0)3—- 3>,<,’Cj>< (;'_D,X 4
[a®4 b33 %a\;:,a/: (a+b+e) (2’ bi e ab-bc —cad]”

,, = "(—\+g))(1%i-\+,3,l+'l:%, ,:19"‘3’) ()
Tha %adw ﬁ%%a 5_+C\o5__ oy ane d

@0+6 1) (4d%3b% 1 - 3ab=2a)B(2a-b+D(ho% b2labyl-2a+h)
() (20+0+7) (Lo b2 - 26bo b-22)(@)(2a- 1 +b) (ha% - Lo -b-Qak)

ot

[Py 22— 3oy = (ayt3) (X243t oy-uz 320 ]
X = (R0+ b+ (Ao b 1-Rab—_b_a4) (€)

QH%) — (2-y)ean ke Pathrged gy A

o) 2y (3% y2) (D) (323 (2 (B @22 (x43yy)

&){MA{W\ e —

(230> = (a-5) (% ob+t) ;0= (x4y), b= ()

() (=) = (lag—r) (oo () + o))

= 2y (XV{M +%i~af{'x"‘+ Y= Rxg)

‘= A (3%2:*-‘61 :

The bprevsen (a-b)+(b-)> (c-0) 2oan. be gedas

(2) (a-%) (b- ) (c-a) (b) 3 (6-b) (b- O (c-a)

)= 32 (a-b) (p-O) (-&) (D) (0+b+6) (a3 b%c2ab_ beca)
Lotubion - i

B2 b2 ok +1 = (2% (D200 3x2axbx_

Unackinng ;- 9(—}4+/\6-«/C+/-p& =0

Scanned with CamScanner



| © (o (a-x=D) (Doneve of khese
| Ehdrin -

f{ ’X~r‘§+89 0, them. %3+165+%3.—. 37%%]
a-») 7+
) e vodue o} (23 0627

b-O% (-a)* 3 (a-8)(b-0) (-o) Cb)

(3D™4 0.69 +0.04

(a) 2 (13 (€)2. 327 (4) 2.273

Sotumkion | —-
2.3’ _(o. 3)? [~ 6> b2 (a-b) (0% abtbD)])
(3:8)% 2-2x0. 34(0.3)"

7 ) _ A e
= (2:3-03) (RDA 23503 - 2.5-0.3: 2D
(-37¢ 2.3x0-5300-8)"
!

Tevebos o @027 (0000 &
: _6-01®% p.013%0.007T+0-00D"

() 0-006 (B) 002 () 000\ (4) 0.0085

30\4&}’\‘0\/\»‘.& 7 7 ) 7  EN

(0015 + o001 (19 sorrom1+ood?)

CO;_O__IWCE 00>
- I a2

Lo’ (os) (Amabt v ]

-0.02(b)
/ﬂ/\L OC—J,:%C—-%zM B

) ;%(;a;fx;‘ Yla-x-)(B @D @y

@+ 2xax?) == (140> [ ax b’ i) @-]
| = (ar1e0(a-1-x) (&) I
Tre. Lo M dBe
CﬁXX%{_ 2A+5) (o&-&?&b‘) (b)@c”}%xﬁ)('xﬁ 52—5) i ‘ v
CC)C%Q-'*"X"*'E-) (_‘7(,2:-'3(4“5_) Cd)Wo’EM
Athiin |- PER ‘ — o
XMy 435 = A 4284 10— T ® R !
~+ + Cx%l'*(?) 9:*_ 27(“{2)( 5—) _Cy,x;'z. [aql{-b+aodof-.‘(d+b)}
(o)L @0" [Lakb=(aa-n]
- [‘7(2} 54+ 290) (% 5= 32)

= (2334 5) (%A 34 15) (@)

Scanned with CamScanner



\O> ,ﬂw&"‘dﬂ”% %+A«g)+br - _.&'x-%m

é:&@‘ml“(‘} W) (- 29+2) () (x-y+2) (x—ag 1)) 042y-4) (24242 rove

23 by "l + Ly — an -
Cx Q Mé_L\.Q(% )-8 [ a%o=asb = (a-0)*]
T 2\3) _QCq ~2y)-%

Pv\k")( 2\6 o
Thom , 0% Ra-8 § P -
50 (arm) 2 -8 < 2

= (A=2y-1) (-2 —{—Q)((l -
) /n\géa&é]% ?’—- T+ 6 63;,@,
_ C@x(‘x 6) (=1 (b) (X 6)(x~ l) ,
() 1) (w427) (-3) (d) (x-D (2 +3)(z-2)
-
e T = 47— oy (%5 DE1li=2d
B Y T \)«7(%—) é(_)@-i'x‘ﬂ) 7(% 1D
I R . sl Nt e
b anNW D (%2 -6) o
R v ____.__=_(x:!?,,@—%&)@t&) @@ ‘ ’6 < |
A _»_[2 he erx,j);u,%«m x +H Ca/w/&e,@&at*e‘n&ko\a/&
Ca)%+;zx+2> (x=2242) () (P o+2) (n*y ax -2)
oz ax-D (=242 @) () (k= 2)
80%0\(\,_'_*4 — -
l%,%+A+4x§4% S |
C(’Z)Jt() Rxarxe)o () I
Co’p D2 (30> -
, = (524 20 (% 2-250) (a)
\3) 6,)6 BX = A+b+C ,than Movelne
( )2y (x- b)5+C7(—C)3 3 (x-o) (x> 1) (x~c) s
(2) Gy by C (b)(a ) (b-c)(-0) (Do (d)mone of Muse
Seafisw % )
[a>+b2+ L5 30hC = (R btO)(0ibh (Zab-be—ca)]
(x-a)24 (ot —b) % (=% (x-8) Gt-b) (%)
—04% = bt c)(@(»ﬁh[?c >+ (x-Q% (2-a)(x-0)- (w‘ﬁﬁ )]

%?h (o)) [=003 OB (-0 (3o apfin s o 5 O3

5 Lo-b) ¢
s (- a+b+C = 37(] CC—> - (x-&) ('::-‘:)JJ

Scanned with CamScanner

p




)| 3 () "= Ce- 4D Gy (22 y™) = ky®) thom k=

@) M2 @ (c\)%‘ 42>

S thudion — [Q+Y)~ 0% 30%b + 30l 1P 5 (-5 a2 3 b 3ab% b?]
(7(3+ 3_%2 ¥ %z;—\— 33)- C'x%_ 3125+ Sz,dh 85> - 67&6 1—633‘
= K4 30 4 Do b ~ WS VLY
Lo TG - ey oy
oTga kg > ks
19 ‘DE W B 3~ T = (o)) (A% ba40) )y Hhore ag 4G =
@4 i ) -0 )3

OO (0 et ) s @ 2y by e tax b+
L s R (A4 wx (b +C
On WN\% et o ®- 32 % Bx=T>
 o4b--3 S
bz =3l =4
byc- 3
, o Cz Bk =TT _
| Them , 04b4C = [—ntT= k()

-3
——— . ./;_
Y LQ/

Scanned with CamScanner



